3 duoouoood

00000 3.1 {v; e R"} 0V =<vy,ve,...,v, >000 A=[vy|ve|...|v,)0D00000O

e dmV = |(q)0D000000DD |

e dim{x€R" [Ax=0}= |()000000000|= |(9000000000 |

(000000 |0000{v}2, 00V 0 |(000000[0000((/)000000]#0

ooo00o0 3200 XO0UOOOOxO0OOOO0oyOooooyOoooooooooooooo f000d
oooof . X-YOOOOf : xeX—yeYOOOOOO

e 00f:xeXmyeYOx#x =fx)#f(x)0000000000000000
e00f:xeXmyeYD{f(x)|xeX}=YOOOOODOOOOODOOOOOO

e 00f :x€eXw—»yecYDOOODODDOOODOOOOf ! : yeY—~»xeXOOOOOO

o0 31 v,wioooooooooooooooo f . v—-wiooooad
f(ax + by) = af(x) + bf(y), a,b€R!
ooo00oooofopoooooon
00 3.200f00000xeVOOOO
f:@x—=x
JoddooooOo0o000ooDoDidy0OoOoooO
oo 3.300f: V—-WOOoooooo
Kerf={xeV|f(x)=0}, Imf={fx)eW |xeV}

gbooobood

oo31f: VW g: W—=Z000000000O
() booUdg-f : V—>Z0OOOOOOOOO

(2) f0000D00D0D0D000000OOOO 1000000000
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oo

(1) - flax +by) = g(af(x) + bl(y)) = ag - {(x) + bg - £(y)-

(2) f00000000f : f'(x)—»x000000000f0000000
flaf 71 (x) + bf "1(y)) = ax + by

000000 f-'o0ooao

£ (E(af " () + B () = af 1 (x) + bE () = £ (ax + by).

00 3.1 0000f : V->WwWOOUOOOOO<« Kerf={0}.

00 0000f0000000000000000000000O0f(x)=00x=0000000000

fx=y)=/fx)—-fy)=0

0x—y=0000000000x-y#£00000fx)—1f(y)£000000000

00 32f: V-WwWOOOOoooooo{v,eV}r,00ooooo

(1) 00000 {v, eV}, 00000000000{f(v;) e W}, 000000000
(2) V =<vi,va,...,vy >00 {f(v;) e W}?, 000DDO00DOO0f0000000

(3) fO00000V =<vy,va,...,v, >0000W =< 1{(vq),1(v2),...,{(vy) >0

(4) W =< £(v1),£(¥2),...,f(va) >0000f0000

good

00
(1) 00 31000

f(a1v1 + asvo 4+ ...+ anvn) = alf(vl) + agf(VQ) + ...+ anf(vn) =0

oood
a1v1+a2v2+...+anvn:0

000000000000({f(v)eW}, 000000000
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(2) f000000O0OOO0OOOOO
X:Zaivi#y:Zbivi
i=1 =1
oood
n n
fx) = 1) agvi) = fy) = 1) bivi)
i=1 i=1

Oo0b00x,yeVOOOOO.0O0O0O0OO

n

i=1

i=1
oono

n

Z(ai—bi)f(vi) =0
i=1
0000{f(v;)eW}r,000000000a;=0b; (i=1,2,...,n) 0000000000
(3) f0000000000W =Imf={>",af(v;))}0000000W =< f(v1),f(v2),...,f(v,) >0

(4 f00000000000OO0OOWOOO0

y ¢ Im f= {Z aif(vi) S W}

=1

00000 y000000000W =<f(v1),f(va),...,f(v,) >000

y = af(vi)
=1
goooooooa

003400 f:V->WOOOOOOOOOODOOOOOOOODDODOODOOOooOowovvoDo
gbooobood

00 3.1 {v,},0VODOO0OODOOOOO0Of : V-WwWOoOooooooO0e{f(vy)}r,0wWoooo
ooo

00 00321)000 3)000W =< f(v1),f(va),...,f(v,) > 00 {f(v;)}, 000000000
{f(vy)}r, 0000000
0O0O0{f(v;)}, 0 WOOOODOO00032(4)000f0000000()000f0000000

00 32200000000V wWUOOOOD000s dmV =dimW0O
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00 0031000f0000000dmW =dimV 0000
000{v;}", 000 {w;}, 0 VO WOOOOOO00O0000o

f: Zain‘le—)ZaiWiEW
=1 =1
oo
(1) f(az;lzlaivi—f—ﬁZ?:l biVi):Z;L:l(aai—l—ﬁbi)wi:Ozf(X)—f—ﬁf(y)DDDDDDDDDD
googooboooboo3ignobobooboo

OO0 3.5 dmKer fO0 fO0000000 null fO0000000dimIm 0000000 rankf0000

00 330000f:V-WDOODOOImfOODOOO {w; =f(y)eW}pakiODOKer fO000
000 {vylfoooooo

{u17u2;~~-7urank £5 V1, V2, .-+ Vnull f}

oovoooooOOOnul f4+rank f=dimV 0000

gd
rank f null f

Z a;u; + Z b1V1:O (*)
i=1 =1
oooooo fo0oooo

rank f null f rank f null f

Z aif(ui) + Z bzf(’Uz) = Z a;w; + Z bzf(Vz) =0.

=1
S pf(vi) 0000000000 20000000

rank f

E a;wW; = 0.
i=1

gooad

a1:a2:...:arankf:0.

(0000000
null f

Z biVi =0
i=1

goooono
b1:b2:...:bnu11f:0.
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D000 {u}2f u{ule/ ;000000000

god
rank f rank f
f(x) eIm f = f(x) = Z a;w; = Z a;f(u;)
=1 =1
oo
rank f rank f
f(x) = Y aif(w) =fx— D am)=0.
1=1 =1

gooooo

rank f rank f null f

X — Z a;u; € Ker f = x — Z a;u; = Z biv;.
=1 =1 1=1

odogoooxevVaod
rank f null f

X = E a;u; + E b;v;
=1 =1

OO00oOoO0vV =<uy,ug,...,Urank £,V1,V2, -, Vyull £ >0

2 1
O 3.1 DDDDf:xER2H<2 1>X€R2DDDD[I

2 1 o 21 s )
{<2 1)X|XER}—{<2 1)(75) | s,t € R}

25+t 1 s ! 1
- {(28+t> |s,teR}—{<s,> s €RY}

OO0O00D0QOrank f=10

) 2 1)
{xER|<2 1>X—O {
S 2s+t 0
{<t>|<2s+t>: 0)

{(_“;S> |seRY

000000l f=10

(1) 000000

Im f

(2) 000000

Ker f

-
Il

(3) 000U null f+rank f=2000000

OO0 34 0000f : xeR"— AxeR"00000rank A=rank 000000
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OO0 A=[vi|ve|...|v,,J0000R"O000000 {&}, 00000
Im f =< Aeq, Aes, ..., Ae, >=< vi,Va,..., vy >

O00rank f=dimIm f00{v;}, 0000000000000 00000rank AODODOOOOO

0000000 8.1 0000f : xeVw=y=AxeUDODDDODODOOD AT'O0O0O0”00000U
obooobOyOovVOOoOoOoooOOoxOOOOOoOOoOOoOOoOooOoooo

oooooboo 3.2 ‘O0Uyub0DOOo00y0ovooooDoOOoxOoooooOoo700b00COOD
OvooooooxODOooOoooooovuobobooogorgoooooooDOoD ©oooovuouoo
yooooooooooor’gooooooooo

0000000 3.3 40000000Imf=0U70000“00000000Ker f={0}70000

0000000 3.4 0000 (O0)0000A = [vilvel...[ve)”00000Imf={y = Ax | x €
Vi=<wvi,va,...,vp, >=00000 Kerf={x€V |Ax=0}={0} 000000 0dimIm f=dim <
V1,V ..., vy >=rtank [vi|ve|...|v,] =dimU =n0000 dimKer f=null A=00000

0000000 3.5 9ank A=n000null A=0"0000A-'00000000O000OOOOOO0O
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